TZIA o|dwes wouy s} nsay :€ Xipuaddy

s921puaddy



ST'0

[-13

sa9.488p Qf =——

saa.8ap 07 ——

001t 006 00L 00S 00€ 00T 00T-

[edy] 0

sao1puaddy



[ed] 0

ot-

5
00TT 006 00L 00S 00€ 00T 00T-
s99489p QL =—
s99489p Q7 ——

(=]

[edy] on

ot

ST

0z

St

0€

sao1puaddy



[edy] “,0

0ozt 000t 008 009 0oy 00¢ 0 00¢-

1S

599.89p O/ —
$99483p 7 = W
[—
7T
: e
0008 Q
——
v6'ov8 +X1Sv6'L=A | ..
00001
000ZT
TTL6E +XL96°TT =A
000rT

sao1puaddy



[edy] “,0

ot-
8-
9-
e
-
(@]
$93.83D () e <
00zt 000T 008 009 [0[0)4 00z —
599.88p Q7 = o w
N
>
e
z
14
9
8
ot

sao1puaddy



